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Exercises	for	Tutorial	3:	Frequency	Response	

1) Problem 6.6. in the course book. 

aሻ Z୧୬ ൌ
୥ౣభାୱେభ

ୱ୥ౣభେభ
	

bሻ Z୧୬ ൌ
ୱେభେమ୰౥ାେభାେమା୥ౣ୰౥େమ

ୱେభେమሺଵା୥ౣ୰౥ሻ
	 	 ሺg୫ ൌ g୫ଵ ൅ g୫ଶ, r୭ ൌ r୭ଵ ∥ r୭ଶሻ	

cሻ Z୧୬ ൌ
ୱେమା୥ౣభ

ୱେమሺ୥ౣభା୥ౣౘభሻ
	

2) Problem 6.8(e) in the course book. 

We	define	Cଵ ൌ C୥ୱଵ ൅ Cୱୠଵ ൅ Cୢୠଶ ൅ C୥ୢଶ,	Cଶ ൌ C୥ୱଶ ൅ Cୱୠଶ ൅ Cୢୠଵ ൅ C୥ୢଵ	

Hሺsሻ ൌ
V୭୳୲
V୧୬

ൌ
g୫ଵ

sଶCଵCଶRୗ ൅ s൫ሺ1 ൅ g୫ଵRୗሻCଶ ൅ g୫ଶCଵRୗ൯ ൅ g୫ଶ
	

Z୧୬ ൌ
g୫ଶ ൅ sCଶ

sଶCଵCଶ ൅ sሺg୫ଵCଶ ൅ g୫ଶCଵሻ
	

3) Problem 6.9(b) in the course book. 

At	low	frequencies:	A୚ ൎ െg୫ଵr୭ଷ → ∞	if	λ ൌ 0	

At	high	frequencies:	A୚ ൎ െg୫ଵሺr୭ଵ ∥ r୭ଷሻ → ∞	if	λ ൌ 0	

4) Problem 6.10(b) in the course book. Assume ݎ଴ଷ ≫ ܴଶ.  

At	low	frequencies:	A୚ ൎ െg୫ଵRଶ	

At	high	frequencies:	A୚ ൎ െ
୥ౣభ୥ౣలୖభୖమ

ଶା୥ౣలୖభ
	

5) Figure 6 shows an amplifier schematic. For simplicity we can ignore all parasitics of ܯଵ and 

 ଶ and we assume that the dominant pole occurs at the output node. Also, we assumeܯ

݃௠ ≫ 1 ⁄଴ݎ . Find the product |ܣ଴|߱ିଷௗ஻, where ܣ଴ is the DC gain and ߱ିଷௗ஻ is the 3 dB cut‐

off frequency. Assume ߛ ൌ 0. 

|A଴| ൈ ωଷୢ୆ ൌ
g୫ଶ
C
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Figure 6 An amplifier schematic. 

6) Figure 7 shows an amplifier schematic. For simplicity we can ignore all parasitics of ܯଵ െܯସ 

and we assume that the dominant pole occurs at the output node. If the input signal has an 

angular frequency of ߱௜ ൌ 10ଽ	ݏ/݀ܽݎ, determine the AC gain of the amplifier. Assume 

݃௠ଵ ൌ ݃௠ଷ ൌ ௠ଶ݃ ,ܸ/ܣ݉	4 ൌ ݃௠ସ ൌ ܥ ,ܸ/ܣ݉	1 ൌ ௠݃ ,ܨ݌	1 ≫ ߛ ଴ andݎ/1 ൌ 0. 

|Aୟୡ| ൌ 2√2	

 

Figure 7 An amplifier schematic.   


